

ATTACHMENT C BID ITEM SHEET

The Bidder shall insert unit prices for each item in ink, in both words and figures, and is to show a total bid price (unit price x estimated quantities). In the event a discrepancy between the written words and figures, the written words shall govern. In the event an error in the bidders total bid price, the corrected total bid obtained by the summation of the products of the unit prices multiplied by the respective quantities shall stand as the bidder's total bid price.

Unbalanced bidding is expressly prohibited, and all unit bid prices will be compared for reasonable conformance with the engineer's estimate. The Owner has the right to reject award of a bid, or part thereof, to protect the public interest if it is apparent that a bid is mathematically unbalanced, the bidder front-end loads its bid as to amount to an advanced payment, there are extreme variations from the engineer's estimate or other bids received, if in the opinion of the Owner, the unit prices create a reasonable doubt that the apparent low bidder will actually result in the lowest cost to the Owner, and/or if the overall competitive bidding process has been jeopardized.

*The estimated quantities shown here are based solely upon a reasonable assessment of the project parameters, thus the Bidder is advised that the actual quantities may vary substantially as field conditions may necessitate.

There is no separate labor charge under this bid: unit prices shall include full compensation for all labor, materials, tools and equipment, and all incidentals necessary to complete the work as specified herein.

Signature of individual submitting bid or proposal

Jaime Antonio

Printed Name of individual submitting bid or proposal

LAL Construction Co., Inc.

Printed Name of company submitting bid or proposal

(508) 676-3962

Business Phone Number

jaime@lalconstruction.com

Business Email



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: FIFTY THOUSAND DOLLAR AND ZERO (\$ _50,000.00) PER UNIT	0.1	A	\$ 5,000.00
ITEM 102.1: TREE TRIMMING	425	FT	\$ <u>6,375.00</u>
THE SUM OF: FOUR HUNDRED DOLLAR AND ZERO (\$ 400.00 DER UNIT	2	EA	\$_800.00
THE SUM OF: ONE THOUSAND EIGHT HUNDRED ONE ZERO CENT (\$ 1,800.00 DOLLAR ONE THOUSAND DO	2	EA	\$ 3,600.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: THIRTY FIVE DOLLARS AND ZERO CENTS (\$ 35.00) PER UNIT	85	СУ	\$ <u>2,975.0</u> 0
THE SUM OF: ZERO DOLLARS AND ONE (\$	3,770	CY	\$_37.70
THE SUM OF: ONE HUNDRED SEVENTY FIVE DOLLARS AND ZERO CENTS (\$ 175.00) PER UNIT	10	СУ	\$ <u>1,750.0</u> 0
THE SUM OF:	15	СУ	\$ 1,500.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 142: CLASS B TRENCH EXCAVATION	20	СУ	\$_0.20_
THE SUM OF: ONE HUNDRED SEVENTY FIVE DOLLARS AND ZERO CENTS (\$	10	CY	\$ <u>1,750.0</u> 0
THE SUM OF: SEVEN HUNDRED FIFTY DOLLARS AND ZERO CENTS (\$ _750.00) PER UNIT	1	EA	\$ <u>750.00</u>
THE SUM OF: SEVEN HUNDRED FIFTY DOLLARS AND ZERO (\$ 750.00) PER UNIT	3	EA	\$ <u>2,250.0</u> 0



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:	ARS 250	СУ	\$8,750.00
THE SUM OF:	2,450	СУ	\$_24.50_
THE SUM OF: ONE HUNDRED SIXTY AND ZERO (\$ 160.00 DEFINITE DOLLA CENTER (\$ 160.00 DEFINITE ONE HUNDRED SIXTY DOLLA DOLLA DEFINITE ONE HUNDRED SIXTY DEFINITE DEFINITE ONE HUNDRED SIXTY DEFINITE DEFINITE ONE HUNDRED	10	СУ	\$ <u>1,600.0</u> 0
THE SUM OF:	10	TON	\$ 400.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: FOURTEEN DOLLARS AND ZERO (\$	8,330	SY	116,620.00
THE SUM OF: THREE THOUSAND SEVEN HUNDRED DOLLARS AND ZERO CENTS (\$ _3,700.00) PER UNIT	4	EA	14,800.00 \$
THE SUM OF: FOUR THOUSAND SEVEN HUNDRED DOLLARS AND ZERO (\$ 4,700.00) PER UNIT	1	EA	\$4,700.00
THE SUM OF: FOUR HUNDRED DOLLARS AND ZERO (\$ 400.00) PER UNIT	17	EA	\$ <u>6,800.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: ONE THOUSAND THREE HUNDRED ONE ZERO CENTS (\$ 1,300.00) PER UNIT	1	EA	\$ <u>1,300.0</u> 0
THE SUM OF: ONE THOUSAND THREE HUNDRED DOLLARS AND ZERO CENTS (\$ 1,300.00) PER UNIT	1	EA	\$ <u>1,300.0</u> 0
ITEM 220.7: SANITARY STRUCTURE ADJUSTED THE SUM OF: FOUR HUNDRED DOLLARS AND ZERO CENTS (\$ 400.00) PER UNIT	3	EA	\$ <u>1,200.0</u> 0
THE SUM OF: EIGHT HUNDRED FIFTY DOLLARS AND ZERO (\$ 850.00) PER UNIT	6	EA	\$ <u>5,100.0</u> 0



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 223.2: FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED THE SUM OF: FIFTY DOLLARS AND ZERO CENTS (\$ 50.00) PER UNIT	3	EA	\$ <u>150.00</u>
THE SUM OF: THREE HUNDRED FIFTY DOLLARS AND ZERO CENTS (\$ 350.00) PER UNIT	1	CY	\$_350.00
TEM 227.31: REMOVAL OF DRAINAGE PIPE SEDIMENT	300	FT	\$ <u>3,000.0</u> 0
THE SUM OF: ONE HUNDRED TWENTY FIVE ONE DOLLARS AND ZERO CENTS (\$ 125.00) PER UNIT	5	SF	\$ <u>625.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: ONE HUNDRED FORTY FIVE DOLLARS AND ZERO (\$ 145.00) PER UNIT	65	FT	\$ 9,425.00
THE SUM OF: ONE HUNDRED FORTY FIVE DOLLARS AND ZERO (\$ 145.00) PER UNIT	25	FT	\$3,625.00
THE SUM OF: TWO HUNDRED FIFTY DOLLARS AND ZERO (\$ 250.00) PER UNIT	5	EA	\$ <u>1,250.0</u> 0
THE SUM OF: ONE HUNDRED DOLLARS AND ZERO (\$ 100.00) PER UNIT	1	EA	\$ <u>100.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: FORTY FIVE DOLLARS AND ZERO (\$ 45.00) PER UNIT	250	CY	11,250.00
THE SUM OF: NINE DOLLARS AND SEVENTY FIVE (\$ 9.75) PER UNIT	1,400	SY	\$ <u>13,650.0</u> 0
THE SUM OF: THIRTY FIVE AND ZERO (\$	35	SY	\$ <u>1,225.0</u> 0
THE SUM OF: ZERO DOLLARS AND FIFTY CENTS (\$ 0.50) PER UNIT	6,200	LB	\$ <u>3,100.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 443: WATER FOR ROADWAY DUST CONTROL THE SUM OF: ZERO DOLLARS AND TEN CENTS (\$ 0.10	25	MGL	\$ <u>2.50</u>
ITEM 450.23: SUPERPAVE SURFACE COURSE – 12.5 (SSC – 12.5) THE SUM OF: ONE HUNDRED THIRTY EIGHT DOLLARS AND ZERO CENTS (\$ 138.00) PER UNIT	360	TON	\$49,680.00
THE SUM OF: ONE HUNDRED TWENTY FOUR ONE DOLLARS AND ZERO CENTS (\$ 124.00) PER UNIT	180	TON	\$ 22,320.00
THE SUM OF: ONE HUNDRED THIRTY NINE ONE DOLLARS AND ZERO (\$	410	TON	\$ <u>56,990.</u> 00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 450.52: SUPERPAVE LEVELING COURSE – 9.5 (SLC – 9.5) THE SUM OF: TWO HUNDRED DOLLARS AND ZERO CENTS (\$ 200.00) PER UNIT	20	TON	\$4,000.00
ITEM 451: HMA FOR PATCHING THE SUM OF:	120	TON	\$24,000.00
THE SUM OF: TWO DOLLARS AND FIFTY CENTS (\$ 2.50) PER UNIT	545	GAL	\$ <u>1,362.5</u> 0
THE SUM OF: ZERO DOLLARS AND EIGHTY FIVE (\$ 0.85) PER UNIT	3,125	FT	\$ <u>2,656.2</u> 5



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: THREE HUNDRED DOLLARS AND ZERO (\$ 300.00) PER UNIT	1	TON	\$ 300.00
THE SUM OF: TWO HUNDRED DOLLARS AND ZERO (\$	15	TON	\$_3000.00
THE SUM OF: THREE DOLLARS AND ZERO (\$) PER UNIT	200	FT	\$ <u>600.00</u>
THE SUM OF: THIRTY EIGHT DOLLARS AND FIFTY (\$	5,430	FΤ	209055.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 506.1: GRANITE CURB TYPE VB - CURVED	,		
THE SUM OF:			17240 00
ANDCENTS	340	FT	\$\frac{17340.00}{}
(\$) PER UNIT		ii	
ITEM 506.2: GRANITE CURB - CHAMFERED			
THE SUM OF: SEVENTY ONE DOLLARS			852 00
AND ZERO CENTS	12	FT	\$ 852.00
(\$) PER UNIT			
ITEM 509: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS – STRAIGHT			
THE SUM OF: FORTY SIX DOLLARS	560	FT	\$ 26040.00
AND FIFTYCENTS	300		
(\$			
ITEM 509.1: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - CURVED		-	
THE SUM OF: FIFTY FIVE DOLLARS	330	FT	\$ 18150.00
AND ZERO CENTS	220		· · · · · · · · · · · · · · · · · · ·
(\$) PER UNIT			



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: FOUR HUNDRED FIFTY DOLLA AND ZERO (\$450.00) PER UNIT	11	EA	\$ <u>4950.00</u>
THE SUM OF: TWO HUNDRED DOLLA AND ZERO (\$	80	EA	\$_16000.00
THE SUM OF: TWENTY THREE DOLLA AND ZERO (\$	3,070	FT	\$ <u>70610.0</u> 0
THE SUM OF: SEVENTY FIVE DOLLA AND ZERO (\$	9	EA	\$ <u>675.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: ONE DOLLARS AND ZERO CENTS (\$	1,060	FT	\$ 1060.00
THE SUM OF: ONE DOLLARS AND ZERO CENTS (\$	200	FT	\$_200.00
THE SUM OF: ONE HUNDRED TWENTY FIVE DOLLARS AND ZERO (\$	40	FT	\$_5000.00
THE SUM OF: ONE HUNDRED TWENTY FIVE DOLLARS AND ZERO CENTS (\$	11	EA	\$ <u>1375.00</u>



ITEM DESCRIPTION & BID PRICE		EST QTY.*	UNIT	TOTAL
THE SUM OF: SEVENTY ONE AND ZERO (\$		4,140	SY	293940.00
THE SUM OF: EIGHTY AND ZERO (\$ 80.00) PER UNIT		1,220	SY	\$ <u>97600.0</u> 0
THE SUM OF: NINTY SIX AND ZERO (\$96.00) PER UNIT		330	SY	\$31680.00
THE SUM OF: THREE HUNDRED AND ZERO (\$300.00) PER UNIT	_	114	TON	\$ <u>34200.0</u> 0



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: THREE HUNDRED DOLLARS AND ZERO (\$300.00) PER UNIT	9	SY	\$ <u>2700.00</u>
THE SUM OF: TWO HUNDRED DOLLARS AND ZERO (\$	150	SY	\$ 30000.00
THE SUM OF: TWO HUNDRED FIFTY DOLLARS AND ZERO (\$	2	EA	\$ <u>500.00</u>
THE SUM OF: FORTY DOLLARS AND ZERO CENTS (\$	630	CY	\$ <u>25200.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: TWO ANDZERO (\$2.00) PER UNIT	DOLLARS 5,070	SY	\$ <u>10140.0</u> 0
THE SUM OF: SEVEN AND SEVENTY FIVE (\$	860	FT	\$_6665.00
THE SUM OF: EIGHTY AND ZERO (\$	15	CY	\$_1200.00
THE SUM OF: TWENTY AND ZERO (\$	125	SF	\$ 2500.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: THIRTY DOLLARS AND ZERO CENTS (\$30.00) PER UNIT	6	EA	\$_180.00
ITEM 786.109: JUNIPER - 'BLUE RUG' 12-15 INCH THE SUM OF:	3	EA	\$ 90.00
THE SUM OF: TWENTY TWO DOLLARS AND ZERO (\$	8	EA	\$ <u>176.00</u>
THE SUM OF: TWENTY FOUR DOLLARS AND ZERO (\$	4	EA	\$_96.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: SIXTEEN DOLLARS AND ZERO CENTS (\$16.00) PER UNIT	25	EA	\$_400.00
THE SUM OF: FORTY DOLLARS AND ZERO (\$ 40.00 PER UNIT	160	FT	\$ <u>6400.00</u>
THE SUM OF: ONE THOUSAND DOLLARS AND ZERO (\$	3	EA	\$ 3000.00
THE SUM OF: FIFTEEN THOUSAND THREE HUNDRED DOLLARS AND ZERO CENTS (\$	1	LS	\$ 15300.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 832: WARNING-REGULATORY AND ROUTE MARKER – ALUM. PANEL (TYPE A) THE SUM OF: ELEVEN DOLLARS AND ZERO CENTS (\$	230	SF	\$ 2530.00
ITEM 847.1: SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY - STEEL THE SUM OF: ONE HUNDRED FORTY DOLLARS AND ZERO CENTS (\$	40	EA	\$ <u>5600.00</u>
ITEM 848.1: SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES - STEEL THE SUM OF: TWO HUNDRED EIGHTY DOLLARS AND ZERO (\$	2	EA	\$_560.00
THE SUM OF: TWENTY TWO DOLLARS AND ZERO (\$	650	SF	\$ <u>14300.0</u> 0



ITEM DESCRIPTION & BID PRICE		EST QTY.*	UNIT	TOTAL
THE SUM OF: ONE ZERO (\$) PER UNIT		100	FT	\$_100.00
THE SUM OF ONE HUNDRED AND ZERO (\$ 100.00) PER UNIT	~	4	EA	\$_400.00
THE SUM OF: ONE HUNDRED TWENTY AND ZERO (\$		8	EA	\$ 960.00
THE SUM OF:	_	140	DAY	\$ <u>1400.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: TWENTY FIVE DOLLARS AND ZERO CENTS (\$ 25.00) PER UNIT	140	DAY	\$_3500.00
THE SUM OF: ONE DOLLARS AND CENTS (\$) PER UNIT	8,890	DAY	\$ 8890.00
THE SUM OF: ONE AND ZERO (\$) PER UNIT	640	DAY	\$ 640.00
ITEM 864.04: PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC) THE SUM OF: SEVEN DOLLARS AND ZERO CENTS (\$	170	SF	\$_1190.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: FOUR DOLLARS AND FIFTY (\$ 4.50 PER UNIT	170	SF	\$ 765.00
THE SUM OF: FIFTY DOLLARS AND ZERO (\$	42	EA	\$ 2100.00
THE SUM OF: ZERO DOLLARS AND NINETY FIVE (\$) PER UNIT	2,400	FT	\$ <u>2280.00</u>
THE SUM OF: THREE DOLLARS AND ZERO (\$	470	FT	\$_1410.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: ZERO DOLLARS AND NINETY FIVE (\$ 0.95 PER UNIT	3,050	FT	\$ 2897.50
THE SUM OF: THREE DOLLARS AND ZERO CENTS (\$) PER UNIT	150	FT	\$ <u>450.00</u>
THE SUM OF: ZERO DOLLARS AND EIGHTY CENTS (\$) PER UNIT	2,400	FT	\$ 1920.00
THE SUM OF: THREE DOLLARS FIFTY AND CENTS (\$) PER UNIT	470	FT	\$ 1645.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: ZERO DOLLARS AND EIGHTY CENTS (\$) PER UNIT	3,050	FT	\$ 2440.00
THE SUM OF: THREE DOLLARS AND FIFTY CENTS (\$	150	FT	\$ <u>525.00</u>
THE SUM OF: ONE HUNDRED DOLLARS ZERO AND (\$	8	EA	\$ 800.00
THE SUM OF: SEVENTY FIVE DOLLARS AND ZERO CENTS (\$ 75.00) PER UNIT	22	EA	\$ 1650.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL			
THE SUM OF: TWENTY FIVE DOLLARS AND ZERO (\$	1	EA	\$			
THE SUM OF: TWENTY FIVE AND ZERO (\$	8	EA	\$ 200.00			
THE SUM OF:	1	LS	\$ <u>70,000</u>			
TOTAL BID – BASE CONTRACT:						
ONE MILLION FOUR HUNDRED SIXTY FOUR THOUSAND F	OUR HU		NINTY FIVE DOLLARS			
AND			_CENTS			
(\$_1,464,495.15)			
Amount in Figures			<i>,</i>			



ITEM 120.1: UNCLASSIFIED EXCAVATION			
THE SUM OF: ZERO	411	СУ	\$ <u>4.11</u>
ITEM 151: GRAVEL BORROW			
THE SUM OF: ZERO DOLLARS AND ONE CENTS (\$ 0.01) PER UNIT	274	CY	\$ 2.74
ITEM 170: FINE GRADING AND COMPACTING – SUBGRADE AREA	-		
THE SUM OF: THIRTEEN ZERO AND CENTS (\$ 13.00) PER UNIT	1,061	SY	\$ <u>13793.0</u> 0
ITEM 381.3: SERVICE BOX ADJUSTED			
THE SUM OF: ONE HUNDRED ZERO CENTS (\$ 100.00) PER UNIT	14	EA	\$



ITEM 451: HMA FOR PATCHING			
THE SUM OF: TWO HUNDRED DOLLARS AND ZERO (\$ 200.00	28	TON	\$
THE SUM OF: THIRTY EIGHT AND FIFTY CENTS (\$	1,443	FT	\$ <u>55555.50</u>
THE SUM OF: FIFTY ONE AND ZERO (\$	34	FT	\$ <u>1734.00</u>
ITEM 509: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS – STRAIGHT THE SUM OF: FOURTY SIX DOLLARS ANDCENTS (\$ 46.50) PER UNIT	127	FT	\$ 5905.50



THE SUM OF: FIFTY FIVE DOLLARS AND ZERO (\$	31	FT	\$
THE SUM OF: FOUR HUNDRED FIFTY DOLLARS AND ZERO CENTS (\$ 450.00) PER UNIT	4	EA	\$ <u>1800.00</u>
THE SUM OF: TWO HUNDRED ZERO (\$ 200.00 DOLLARS PER UNIT	18	EA	\$ 3600.00
THE SUM OF: TWENTY THREE AND ZERO (\$ _23.00) PER UNIT	869	FT	\$ 19987.00



ITEM 582: CURB CORNER REMOVED AND RESET			
THE SUM OF: SEVENTY FIVE DOLLA AND ZERO CEN (\$	۱ ۾	EA	\$_450.00
ITEM 594: CURB REMOVED AND DISCARDED			
THE SUM OF: ONE DOLLA AND ZERO (\$	217	FT	\$ 217.00
THE SUM OF: SEVENTY ONE AND ZERO AND 71.00 (\$) PER UNIT	1 705	SY	\$ 51475.00
ITEM 701.2: CEMENT CONCRETE PEDESTRIAN CURB RAMP			
THE SUM OF: NINETY SIX AND ZERO (\$ 96.00 PER UNIT	11	SY	\$ 1056.00
ITEM 702: HOT MIX ASPHALT SIDEWALK OR DRIVEWAY			
THE SUM OF: THREE HUNDRED DOLLA ZERO AND (\$	16	TON	\$ 4800.00



ITEM 751: LOAM BORROW			
THE SUM OF: DOLLARS AND CENTS (\$ O O) PER UNIT	55	СУ	\$ 2200.00
THE SUM OF:	497	SY	\$ 994.00
THE SUM OF: ONE HUNDRED FOURTY AND ZERO DOLLARS (\$	3	EA	\$ 420.00
THE SUM OF: SEVENTY FIVE DOLLARS AND ZERO CENTS (\$	9	EA	\$ 675.00



ITEM	999: POLICE SERVICES					
THE S	SUM OF: Nine Thousand DOLLARS					
AND	CENTS	1	LS	\$ <u>9,000</u>		
(\$	<u>9,000</u>) PER UNIT					
ļ	TOTAL DID. ADD ALTERNATE MA					
	TOTAL BID – ADD ALTERNATE #1:					
ONE	HUNDRED EIGHTY TWO THOUSAND THREE HUNDRED	SEVENT	Y THRE	DOLLARS		
	AND EIGHTY FIVE			_CENTS		
	(\$ 182,373.85)		
	Amount in Figures					



ATTACHMENT D BID PRICING SHEET

Bid form must be completed in ink or by typewriter. The bid price for each item on the form shall be stated in figures. Discrepancies between indicated sum of any column(s) and the correct sum of any column(s) will be resolved in favor of the correct sum. Please Attach Additional Sheets if necessary.

BASE BID PRICE

The Bidder submits this bid proposal to perform all of the work (including labor and materials) as described in the solicitation for this Base Bid Price (including the costs for all Allowances, Incidentals, Bonds, and Addenda):

Total Bid in figures $\frac{1,464}{}$	95.15	
Total Bid in words \$ONE MILLION FOUR HUNDRE NINTY FIVE DOLLARS AND	Table 1 Total Elloubial D 1 Out	HUNDRED
ADD ALTERNATE #1 PRICE		
Total Bid in figures \$182,3	3.85	
Total Bid in words \$ ONE HUNDRED EIGHTY TWO	THOUSAND THREE HUNDRED SEVE	ENTY THREE DOLLARS
AND EIGHTY FIVE CENTS	83	
NPC 11/21		
Signature of individual submitting bid or prop	osal	
Jaime Antonio	(508)679-5047	
Printed Name of individual submitting bid or	proposal Business Phone Number	r
LAL Construction Co., Inc.	jaime@lalconstru	action.com
Printed Name of company submitting bid or p	roposal Business Email	